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1. Length of dragonal = 28 em
Length of offsets = 9 em and 13em
Area of quadrilateral

=EX diagonal x sum of offsets

= Exx(9 + 13)

= 14x22

= 308 em

2. Length of diagonal AC= 16 em
Length of offsets = 6 em and 7 em

Area of quadrilateral
= Ex diagonal sum of offsets

= Ex=x(6+ 7)
t

= 8x13

= 104 em
?

3 . In IPARS
,
PR= Zom

Length of perpendicular from Q or PR= Om
Let length of perpendicular from Son PR=m

Area ofIPERS = 150 sq - m

or ExEx(8+x) = 150
↓

or 10(8+ x) = 150
or St=
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or x= 15-8

or x= 7

·
: Length of perpendicular from S on PR

= 7 m

4 . Side of regular hexagon , a= 10em
Area of regular hexagon- a

=-+73x (10)2

=Xo
= 259 . 5 um

2

5 . Side regular octagon, a = 7 enof
Area of regular octagon= 2(++) a ?

= 2(1 + 1 .4)x72
= 2x2 .4x49

= 235 .2 em
?

C Sem D
-

6 . Const - -Join BE and "draw CG and FH
B --------E gam

perpendiculars on BE. YIn hexagon ABCDEF ,
Fv

CG = 4 em
,
HF=Her

, I

A
>

11ei
CD = Sem

,
BE = 11 em,

AF = 5 em
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Area of hexagon ABCD
= area of trafegium BCDE
+ area of trapezium ABEF

= E((D + BE)x(G + z(AF + BE) xFH

2

= -(S+ 11) x4 + E(5 +1)x72
1 1

= 16x2 + 16x2

= 32 + 32

= 64 em? 50en
[ >

E E
-

7.Const-Draw A
--- -M NI - - - D 30em

AMIBF and W

B C 10em
DNICE * &

[ >
70 em

BC= FE = 50 em

BF = CE = 30 em

DN = 10 em

Am= 70-(50 + 10) = 70-60 = 10 em

Area of Polygon ABCDIF
= area of rectangle BCEF + area of AABF

+ areaof CDE
IS 1 S

= 50x30+ E x50x10 + Exzox1o
1 2

= 1500 + 150 +150

= 1800 em
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8. In Pentagon ABCDE, AP = 2 Sem

PQ= 1Sem
,
Gr= 40 em ,

RD = 56 em, BP = 20 em, RT
C

EQ= 60 em
,
RC = 52 em

E ↑ Q

AD = AP + PQ+QR + RD Pd B

= 25+ 15 + 40+ 56
A

= 136 em

PR = Pa + QR

= 1S + 40

= SS em

Area of LADE = EXADXDE

=x
+36x60

= 4080 en

Area of ACDR= EXDRXCR
26

= Ex56x5

= 1456 em
?

Area of LABP = EXAPXBP
↓

= x25xz0
= 250 em

Area of trapezium BCRP = EX(BP +RC) XPR

= x(20+ 52)x5S
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=
= 1980 em

:. Area of Pentagon ABCDE

= area ofXADEF area of ACDR+ areaof
AABP+ area of trapezium BCRP

= 4080+ 1456 + 250 + 1980

= 7766 em
?
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